88

FIZE / Product Number

AUPE

HF %

H dimension

W-Ti&

W dimension

BAL4E / Feet specification

D~fi%

D dimension

& R/ A)

Feet (R or A)

BT =h)LT—%4 / Technical Datall
#H{4ThJLY / Recommended torque
M2.5 : 0.15Nm ~ 0.2N'm

M3, M4 : 0.3N*m ~ 0.6N-m

itk

Color Type

EX (P /H)
Screw (P or H)

HERNZ / Components
No. 2 / Part name #=E / Pcs #ME / Material & - RHEALIE / Color-Finish
: a—F—JAvY 4 TILEF A Fv A~ ADC12 DIVN— | TZuy- & (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
5 3R ) T ILSHR A A6063S-T5 DILN—- B (REELE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
2 IL—Ls . T ILSIRH# A6063S-T5 DI — B (NERRLE)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
s A% ) 7ILZAR A1100P VILN—FK (REERNE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 FN— 1 7 JLE4R A1100P DILN—- R (REEENE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 Thii— : 7 ILZHR A1100P VIILN—-FK (REERNE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
JLE TPE (ZSAF) T3vY
7 Ruber feet 4 TPE (Elastomer) Black
TR FILE&IYaAVT L DILIS— T LIS+ & TS5VH
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
8 EMCL—ILRH R4 yb " EEMMM (UL4V-0) AT L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 H{TE R (ILM3 x 8) " &% —uTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
0 BR{FER (BFM3 x 5) . % = LAE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
» BFE R (VN1 KEM4 x 8) 4 &% =fmE /aA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
” RAER GETHLEFM25x 7) 8 £ =LAy
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

B fE R4L#% / Original trapezoid head screw specification

@30

10

12

@ [P

[

]

o]

[R] L / Rubber feet 7ILZR / Aluminium feet [P] 75X / Phillips 7Nf / Hexagon—socket
f1+4% / Color Type &4 /Title
A = ° . o ~
i85 / Code | I—#+—7JAw% / Corner block {84 / Frame N2 JL / Panel $H/8— / Top cover | T7//3— / Bottom cover TAKACHI] HARMIAFERIR INRURRFBEEMCY — LR —X
SSs < )Ls3— / Silver < JLs3— / Silver < JLsN— / Silver < JLs3— / Silver < JLsN— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with DETACHABLE PANELS
S B 75949 / Black < JLsN— / Silver < )LiN— / Silver < JLIN— / Silver < )LiN— / Silver 752/ Approved & X]/Checked #IX/Created R /Product number
AUPES88-16—-161-101]
iR E ES2 )
YR B /Date 2022/08/24 1

RFE/Scale

~R— /Page

/7




B-B(1:35)

ﬁ.ﬁgl 'i '%

2

113

D view

E view

113

A view

88+0.3

F view

160+ 0.5
!<— A
B = > B
L0 | 4
RN
A

A-A(1:35) C-C(1:35)
© —
[{e] [e0]
0
146 153
C view B view
160+ 05

B 9 |
@ ® |

fn4a/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

INRILERBEMCY — LR — R
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

A& 8/ Approved

iR

1% [X|/Checked #IX]/Created

ES ¥t

R /Product number

AUPES88-16-1611-0101

RFE/Scale
1:3.5

{EBL B /Date 2022/08/24

~R— /Page

2 /17




C fAl#x / C Frame

87

XM / Front side

D {8l#% / D Frame

M / Front side

110

80.7

22.5

25

33

33

b
L5y 3
& &
5 2-M3FAHY I} 5
2-M3 Countersunk
¥ R*¥IEHEHE / Same on the other side.
251 / Back side
o o
221 / Back side
. Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked X /Created FIF /Product number RE/Scale
H88 - D160 1:2
iR x (320 A= /Page
1ERLH /Date 2022/07/20 3/ 17




16

225

86

ggg—g ©
Y/ ©
2-M2.5
110 5.5 10.5
©
<
— ™
5 5 3 3.3
2-M3RAH I
2-M3 Countersunk
ET47K / Total 4 pieces
Mm%/ Title
TAKACHI] BX&#4hFEHITE SL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
= = s T RE/Scale
K ER/Approved #R[X/Checked H[X|/Created 1% /Product number
W160 1.51
iR E B4 RS /Pase
{ERE /Date 2022/08/08 4 /1




A /N2RJL / A Panel

109.5
[5) [5)
A4 L
'
~
&> 1)
L &7 S|

BH#~Fi% / Max dim. 102+£0.3

XM / Front side

B /A% JL / B Panel

(D) [)

\ 4 A4

o o
L7 £ |

K / Front side

A3 T / Max dim. 54.6+0.3

4-M25FAFINRY—T
4-Metal sleeve for M2.5

3.5 2 86

67.5

RS — A

Surface protective film side

251 / Back side

fREEL — A

Surface protective film side

221 / Back side

S/ Title
TAKACHI| XS4 hFEHIE ISR
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel

o]

7R/ Approved #&[X/Checked X /Created FIF /Product number

H88 — W160
iR x A

RE/Scale
1:2

YERL B /Date 2022/08/08

~R—/Page

5/ 17




149.4

130

4-R147
o
<
g B8
0

R / Front side

B#+F3% / Max dim. 113£0.3

A#hTi% / Max dim. 113+0.3

4-P45

fREES —MMAY

Surface protective film side

0

N
J

2@ / Back side

w4/ Title
TAKACHI] #R&HIHTFEHTE Hri— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Seale
W160 - D160 _ 12
iR ES e R=2/Page
feFkE/Date  2022/07/20 6 /7




4-R14.7
<
g 8

M@ / Front side

101.4

149.4

130

101.4

A#Fi% / Max dim. 113+£0.3

<ti% / Max dim. 113+ 0.3

#

=l

4-M4

4-@45

fREEL— M

Surface protective film side

o &
Lol o]
] O
2@ / Back side
4/ Title
TAKACHI] #XR#SHFERTE THN— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Seale
W160 - D160 12
iR T (320 N—>/Page
{ER B /Date 2022/07/20 77/ 17




	
	AUP88-16-16
	ｼｰﾄ2_AUP88-16-16
	AUS_H88-D160
	AUPF_W160
	AUPP88-160
	AUT160-160
	AUB160-160


